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•••• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 39 gSaA  
 Please make sure that the printed pages in this question paper are 8 in number and 

it contains 39 questions. 
•••• iz'u-i= esa lcls Åij fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 
 The Code No. on the top of the question paper should be written by the candidate 

on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 
strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 
complete question paper, no claim in this regard, will be entertained after 
examination. 
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uksV %uksV %uksV %uksV %     (i) funsZ'kkuqlkj lHkh lHkh lHkh lHkh iz'uksa ds mÙkj nsaA 

  Answer all the questions as per given instructions. 

 (ii) izR;sd iz'u ds vad muds lkeus fn, x, gSaA 

  Marks are indicated against each question. 

 (iii) vkids mÙkj vadkuqlkj gksus pkfg,A 

  Your answer should be according to marks. 

uksV % iz'u Øekad 1 ls 3 eas ls dksbZ nksnksnksnks     iz'u djsaA                     2 × 6 = 12 

 Attempt any two questions from Question numbers 1 to 3.  

1. vktdy Hkkjr eas ckxokuh dks D;ksa vf/kd egÙkk nh tkrh gS \ Qyksa vkSj lfCt;ksa dh Qly esa D;k 
vUrj gS \ budks D;ksa izkslsl fd;k tkrk gS \ 6 

Why Horticultural crops in India are getting more importance these day ? 

What is the difference between fruits & vegetables crops ? Why these are 

processed ? 

2. Hkwfe ijh{k.k D;k gS vkSj blds D;k ykHk gSa \ feV~Vh dh ikS/kk mRiknu esa dSls vko';drk gS \ 6 

What is soil testing and what are its advantages ? How soil is necessary for 

plant growth ? 

3. ekSf[kd lapkj] vekSf[kd lapkj ds eqdkcys vf/kd izHkko'kkyh gS] blds D;k ykHk gSa \ dkSu-lh Hkk"kk 
ekSf[kd lapkj esa vf/kd izHkko'kkyh gS \ 6 

Why verbal communications is more effective as compared to non verbal 

communication ? What are its advantage ? Which language is more effective in 

verbal communication ? 

uksV %uksV %uksV %uksV %     uhps ik¡p iz'uksa (4-8) esa ls fdUgha pkjpkjpkjpkj dk mÙkj nsaA izR;sd ds rhurhurhurhu vad gSaA  3 × 4 = 12 

   Out of following five Questions (4-8), attempt any four, each has three     

marks.  

4. ckxokuh esa jkstxkj ds D;k-D;k volj gSa \ muds uke crkb;sA 3 

Name the various employment opportunities available under Horticulture. 
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5. ikS/kksa dk dkSu-dkSu-lk Hkkx lCth ds fy, iz;ksx fd;k tkrk gS \ izR;sd dk ,d,d,d,d-,,,,dddd mnkgj.k nsa rFkk og 
lCth fdl le; iSnk gksrh gS mldk uke Hkh fyf[k,A 3 

Name the plant parts used as vegetables and give one example of each. Also 

write the name of season of that crops. 

6. feV~Vh dh fdLesa dkSu-dkSu-lh gSa vkSj mlds d.kksa ds D;k uke gSa \ lk/kkj.k feV~Vh fdl-fdl pht ls 
curh gS \  3 

Name the types of soils and its particles. What is the constituent of normal   
soil ? 

7. izkÑfrd nq?kZVukvksa ds uke crkb;s] muls eq[;r;k D;k-D;k gkfu;k¡ gksrh gSa \ 3 

Which are the natural hazards, name them. What are main losses due to 
natural hazards ? 

8. dEI;wVj ds eq[; Hkkxksa ds uke crkb;s rFkk baVjusV ds D;k-D;k lkekU; iz;ksx gSa \ 3 

What are the parts of computer and what are the common uses of internet ? 

uksV %uksV %uksV %uksV %     uhps lkr iz'uksa (9-15) esa ls fdUgha NgNgNgNg iz'uksa dk mÙkj nsaA izR;sd ds nks nks nks nks vad gSaA  

6 × 2 = 12 

  Out of following seven Questions (9-15), attempt any six, each has two marks.

    

9. lfCt;ksa dks mxkus ds fy, tks dk;Z fd;s tkrs gSa] muds uke crkb;sA 2 

Name the methods of intercultural practices in case of vegetables. 

10. lfCt;ksa ls feyus okys foVkfeu rFkk yo.kksa ¼iks"kd rRo½ ds de ls de Ng Ng Ng Ng ds uke crkb;sA 2 

Which are the nutrients and vitamins available from vegetables, name them at 

least six. 

11. cht dk pquko djus dh D;k egÙkk gS \ 2 

What is the importance of seed selection ? 

12. ih ,p ds fglkc ls Hkwfe dks fdl izdkj oxhZÑr fd;k tkrk gS \ 2 

Name the types of soil based on pH. 



 ( 4 ) 1428 

1428 

13. fdUgha pkj pkj pkj pkj e'khuksa ds uke crkb;s tks [ksr dks fctkbZ ds fy, rS;kj djus esa iz;ksx gksrh gSaA 2 

Name any four machines used for field preparation for sowing. 

14. fdUgha nks nks nks nks jlk;fud moZjd ds uke crkb, ftuesa iksVk'k miyC/k gksrk gSA 2 

Name any two chemical fertilizers which provide potash. 

15. dsanzh; izkslsflax ;wfuV ¼lh0 ih0 ;w0½ ds Hkkxksa ds uke crkb;sA 2 

Name the parts of Central Processing Unit. 

uksV %uksV %uksV %uksV %        fuEufyf[kr fn, x, pkSchl iz'uksa (16-39) esa iz'u la0 16 ls 27 rd fjDr LFkku dh iwfrZ dhft, 
rFkk iz'u la0 28 ls 39 rd esa fn, x, pkj fodYiksa esa ls lghlghlghlgh fodYi dk p;u dhft,A izR;sd 
iz'u dk ,d,d,d,d vad gSA  

  In the following twenty-four questions (16-39) fill in the blanks from Question 
numbers 16 to 27 and select the correct option from four options given in 
Question number 28 to 39. Each has one mark.  

16. Qyksa dh izkslsflax Hkkjro"kZ esa nwljs fodflr ns'kksa ls cgqr ………….. gSA 1 

Processing of fruits in India, is very ………….. as compared to other developed 

countries. 

17. dqN lfCt;k¡ ………….. cukus esa iz;ksx dh tkrh gSaA 1 

Some Vegetables are used for making ………….. . 

18. ikyd ,d  ………….. lCth gSA 1 

Spinach is …………..  vegetable. 

19. fephZ dks ………….. ls cks;k tkrk gSA 1 

Chillies are sown by ………….. . 

20. Hkwfe esa ued dh ek=k ………….. ls ekih tkrh gSA 1 

Salt content in a soil can be measured by ………….. . 

21. ikS/ks ikuh dks ………….. ls izkIr djrs gSaA 1 

Water is taken by the plants through …………..  system. 
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22. iÙks ikS/ks ds fy, ………….. cukrs gSaA 1 

Leaves make …………..  for plants. 

23. iVk[ks ………….. esa iznw"k.k QSykrs gSaA 1 

Crackers create …………..  pollution. 

24. isM+ksa dk dkVuk ………….. ds fy, Bhd ugha gSA 1 

Cutting of trees is not good for …………..  . 

25. gok ls lacaf/kr vkink ………….. gSA 1 

Air related hazard is  ………….. . 

26. ………….. izkÑfrd vkink gSA 1 

Natural hazard is ………….. . 

27. QwyxksHkh ds [kkus okys fgLls dk uke ………….. gSA 1 

Edible part of Cauliflower is ………….. . 

28. ddM+h dh Qly dh izÑfr gS % 1 

(A) tM+  (B) iÙkksaokyh 

(C) ruk  (D) csyokyh 

Nature of crop of cucumber is : 

(A) Root  (B) Leafy 

(C) Stem (D) Vine 

29. iwlk Tokyk fdl lCth dh fdLe gS \ 1 

(A) fepZ  (B) xktj 

(C) I;kt  (D) vkyw 
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Pusa Jwala is variety of : 

(A) Chillies (B) Carrot 

(C) Onion (D) Potato 

30. xehZ dh lCth dk uke crkb;s % 1 

(A) QwyxksHkh (B) cSaxu 

(C) xktj  (D) vkyw 

Name the summer vegetable : 

(A) Cauliflower (B) Brinjal 

(C) Carrot (D) Potato 

31. vkWxsZfud eSVj ¼gqel½ fdlls izkIr gksrk gS \ 1 

(A) ftad lYQsV (B) E;wjsV vkWQ iksVk'k 

(C) MkbZ veksfu;k QkWLQsV (D) dEiksLV ¼nslh [kkn½ 

Organic matter is obtained from : 

(A) Zinc sulphate (B) Murate of potash 

(C) Di Ammonia Phosphate (D) Compost 

32. dkSu-lh u [kkus okyh [ky gS \ 1 

(A) ewaxQyh dh (B) uhe dh 

(C) dikl dh (D) vylh dh 

Which is non edible cake ? 

(A) Ground nut cake (B)  Neem cake 

(C) Cotton Seed cake (D) Linseed cake 

33. VsyhQksu ls vki fdl izdkj lwpuk izkIr djrs gSa \ 1 

(A) lquus ls (B) cksyus ls 

(C) fy[kus ls (D) i<+us ls 
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How do you get information by Telephone ? 

(A) Listening (B) Speaking 

(C) Writing (D) Reading 

34. viuk xkuk fjdkWMZ djus ds fy, vki dEI;wVj ls D;k tksM+rs gSa \ 1 

(A) dhcksMZ  (B) LdSuj 

(C) ekbØksQksu  (D) ekml 

What would you connect to your computer to record your song ? 

(A) Keyboard (B) Scanner 

(C) Microphone (D) Mouse 

35. dkSu-lh [kkn okrkoj.k ds fy, gkfudkjd gS \ 1 

(A) gjh [kkn (B) thok.kq [kkn 

(C) nslh [kkn (D) ;wfj;k 

Which fertilizer is harmful to environment ? 

(A) Green Manure (B) Bio fertilizer 

(C) Farm yard manure (D) Urea 

36. buesa ls dkSu-ls jax dk yscy vf/kd [krjukd dhVuk'kd nokb;ksa ij vafdr gksrk gS \ 1 

(A) uhyk  (B) yky 

(C) gjk  (D) ihyk 

Which is the extreme dangerous label for pesticides denoted by ? 

(A) Blue  (B) Red 

(C) Green (D) Yellow 

37. dSfY'k;e veksfu;e ukbVªsV ¼dsu½ ikS/kksa dks D;k nsrk gS \ 1 

(A) lYQj ¼xa/kd½ (B) veksfu;k 

(C) ukbVªkstu (D) ftad 
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Calcium Ammonium Nitrate provide the plants : 

(A) Sulphur (B) Ammonia 

(C) Nitrogen (D) Zinc 

38. ,d dkj[kkuk }kjk dks;yk rFkk ydM+h tykus ls okrkoj.k fdl izdkj izHkkfor gksrk gS \ 1 

(A) ?kVrs rkieku }kjk (B) /ofu iznw"k.k }kjk 

(C) ok;q iznw"k.k }kjk (D) dksbZ vlj ugha  

A factory using coal and fire wood affects the environment : 

(A) By Decreasing Temperature (B) By noise pollution 

(C) By air pollution (D) No affect 

39. 'kqHk 'kke dc gksrh gS \ 1 

(A) lqcg ukS cts (B) lqcg X;kjg cts 

(C) lqcg lkr cts (D) 'kke lkr cts 

Good evening is when ? 

(A) 9 am (B) 11 am 

(C) 7 am (D) 7 pm 

S 


